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For each question, four options are given. One of them is the correct answer. (25 x 2 marks)

Which animal has a 3-stage life cycle?

A)

B)
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C)
mosquito
v D)
grasshopper

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Tue 13th Jul 2021

Last Modified: N/A
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QID#:

Question 2

A) frog
B) chicken
v C) mosquito

D) cockroach

Question Type:
Date Added:

Last Modified:
QID#:

Question 3

A) egg
B) seed
C) adult plant

v' D) young plant

Question Type:

Randomize Answers:

28,408,571

Which animal has a pupa as a stage in its life cycle?

Multiple Choice
No

Tue 13th Jul 2021
N/A

28,408,572

The diagram shows the life cycle of a plant.

What is the stage marked X7

Multiple Choice
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Randomize Answers: No

Date Added: Tue 13th Jul 2021
Last Modified: N/A
QID#: 28,408,575

Question 4
In which part of the digestive system is water absorbed?

A) mouth
B) stomach
C) smallintestine

¥ D) large intestine

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 13th Jul 2021
Last Modified: N/A
QID#: 28,408,578

Question 5

The diagram below shows a pair of speclacles

= Etal Trame

Thie frame of e spactades = made of metsl becausa matad
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A) can reflect light
B) can sink in water
¥v" C) does not break easily

D) does not allow light to pass through

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 13th Jul 2021
Last Modified: N/A
QID#: 28,408,583

Question 6
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A) air
B) flour
v' C) shadow

D) orange juice

Question Type:

Date Added:
Last Modified:
QID#:

Question 7

A)

B)

v C)

Randomize Answers:

Matter is anything that has mass and occupies space.
Which one of the following is NOT matter?

Muiltiple Choice
No

Tue 13th Jul 2021
N/A

28,408,590

Which one of the following is a source of light?

moon
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sun
D)
cloud

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Tue 13th Jul 2021
Last Modified: N/A
QID#: 28,408,614

Question 8 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Which one of the following is NOT a source of heat?

A) The sun
B) A lighted bulb
C) Alighted candle

¥v' D) Awoolen jacket

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 13th Jul 2021
Last Modified: N/A
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Question 9 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Lucy places a metal spoon in a bowl of hot soup as shown below.

a bowl of hot soup

After a while, the spoon becomes hot.
Which ane of the following explains this?

A) The spoon loses heat to the bowl.
B) The spoon loses heat to the soup.
¥ C) The spoon gains heat from the soup.

D) The soup gains heat from the spoon.

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Tue 13th Jul 2021

Last Modified: N/A

QID#: 28,408,626
Qu estion 10 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

In which one of the following would the two magnets push each other away?

A)

B)

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit 7146


https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28408618
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28408618&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1781221
http://drive.google.com/uc?export=view&id=1e-6m-TelQX6ocEUK1UojZ8solESiKZwi
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28408626
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28408626&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1781221

8/6/2021 ClassMarker - Manage Test

v C)

D)
Question Type: Multiple Choice
Randomize Answers: No

Date Added: Tue 13th Jul 2021

Last Modified: N/A
QID#: 28,408,641
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The diagram balow shows how a pian gfmmmaseedmﬁapemdanMa.

At which stage(s) of s growth, A, B, G or D, isfare the plast ROT abbe fo make s own
fond?

A) Bonly

v' B) Aand B only
C) CandDonly
D) A, BandConly

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,486,347
Question 12 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The grasph below showa the number of daye in each stage of tha life cycle of insext Y

r
nermidser 14 7
of s oL S

10

B

4_... —_—

eqg farva pupa aduli
slages in the life cycle of Insect Y

Based on Uhe graph abawe, which ol ihase salemenis aboul msact ¥ is NOT comed?

A) InsectY has a 4-stage life cycle.
B) InsectY hatches four days after the egg is laid.
v' C) Insect Y takes thirty days to become an adult.

D) Insect Y spends longer time in larva stage compared to other stages.
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A)

B)

v C)

D)

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

-

Muiltiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,349

P Q

water | digested food

P Q

digested food | water

P Q
undigested food | water
P Q

undigested food

digested food

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 14

Multiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,354
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Thex dizsgraen Bezlow shows part of the lange intesting in the digestive syatam.
Subsiancas P and 0 am found in the largs inlestog,

bleodetream

@ @ @ ©

P Le]

Wihich one of the following dentifies substances P and © cormectly?
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The dagram below shows a plank
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Which ona of the foliowing identifies the function of the perts W, % and ¥ correcy?

v A) Function of W

Function of X

Function of Y

plant

makes food for the

of the plant

transports water and food to all parts | holds the plant firmly to the

ground

B) |Function of W

Function of X

Function of Y

plant

makes food for the | holds the plant firmly to the

ground

transports water and food to all parts
of the plant

C) | Function of W

Function of X

Function of Y

of the plant

transports water and food to all parts

plant

makes food for the [ holds the plant firmly to the

ground

D) |Function of W

Function of X

Function of Y

of the plant

transports water and food to all parts

ground

holds the plant firmly to the | makes food for the

plant

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 15

Multiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,367

Primary 4 Science » Primary 4 Science (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit

2 pts

11/46


http://drive.google.com/uc?export=view&id=12dMxNFKg_vwF7WComiDG3zjEcNYcYSdz
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486367
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486367&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1781221

8/6/2021 ClassMarker - Manage Test

James wankd @ find out i1 the amomm| of mols affect the wolume of water absorbed by a
planl. Ha placed the bwo sal-ups near s window 83 shown bebo.

plant

—Bayar of all
beakar |

Bat-up G

Ha mcormed the wluma of waier lof in ihe beaker for fve days

Which one al the iallowing graphs shows his resulls cormecthy 7

v A) a
time (day)
B)
A
volume of
water
(cm?) |_
‘_-::_::'—:-—:——-________ P
S 5
time (dayf
C)
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A
volume of
water P
{Emal -e’-f:'::i_l_—‘_ Q
time (d ayf
D)
A
volume of .- Q
water e =
(cm?) s

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 16

time {daﬁ

Muiltiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,407
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Joy 861 up an experiment 25 shown below to 1esd the absorbency of fowr dffeen
ratanals, B, 5, T and L. The maledsis sma of denfical length, size and thicknees,

B |
—= =%=
R & T u
=50 shand
F == A = . bagin
Q—:— —t I = —= = — bilure-goloured
i 1 e T T i e i e e s i ywakar
After hall an kour, Joy removed the materials from the basin and siing and massursd
tha gilence 'd" of each mateisl thet wae slainsd blue. She reconded the resulis in he
taftle balow
| Material 14 a5 T u
- | Distance ‘o' of
d ?;.-.l_} I material stained biug 1} B 12 10
e _: I_iﬂ_“}—..
The mtrmetagfml below i usad 1o keap Joy dry 6 & rainy dey.
pant
Basad an the resulls in the above table, which material is moss sultable o make parn ¥
of the urnbrelia?
v A R
B) S
C) T
D) U
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,409
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Emmedm&mjhmueammnmm reshapsd e game pisce of cley that
was used in maks fa oylinder Mo a cube as shewm o dagams balko

cuba
In whal ways am the gdinder and cube similar 0 each othesy
Both the oyinder and the cube have thea saoma A
.8 rEsE
B shapne
C v LT
A) Aonly

B) AandB only
¥" C) Aand Conly

D) BandC only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18

Multiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,415

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit

Primary 4 Science » Primary 4 Science (Term 4)

2 pts

15/46


http://drive.google.com/uc?export=view&id=1-3NK_PxRQhjcvWr91cy-8W91ZU84JZsF
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486415
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486415&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1781221

8/6/2021

ClassMarker - Manage Test

Then he recorded hs obseralicns in e tabls below

Ak wartled |0 find ot the mass of the lemons usng the sei-up show in e diagram
below. He placed five lamans and a wooden block on & balancs. Ho mpeated the
upaEriment by replacing tha woaden block with other wosden blocks of @feser massas.

Question 19

v A) Light occupies space.
B) Light can be reflected.
C) Lightis a form of energy.

D) Light travels in a straight line.

Question Type: Multiple Choice
Randomize Answers: No
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Which one of the following statements about light is NOT correct?

T e ol weaden block (g) Biihe that tilted downwards
200 x
= B0 ——11] x
T [*T]
B0 W
Basexd on the results above, which ane of the Sollowing 1s mast likely fo be the mess of
e lemars?
A) 600g
v B) 650¢g
C) 700g
D) 750¢
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,423
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Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,486,433
Question 20 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The diagram below shows the layow! of the stage for a puppsl perlarmanca
B ———light source

AifEence

Threa puppats, A, B and C, were pleced between the light souce and the screen, The
ihres puppets were of fhe same height but differant shapee. The audiercs saw the
shadaws of the puppoés cast on the screen as ehown Beloe.

B

Which are of fle= loliowing shows the comact position of the three puppets, A, B ari 7

A)

&%

B)
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i ¥ ]
C)
| 1
v’ D)
. -
. c
L ]
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,471
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The diagram below shoes a piciure of an opened umbrella.

The cpanad umbreia was placed behween 8 lighl soures and a screan in diffenand
postions

Which one of the follewing is NOT likely o be iha shadow of the opemed umbrella?

T
T

v C)
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D)

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 22

Multiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,487
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A)

B)

v C)

D)
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Shex e put both her hands into pall Z.

Left Hand

Right Hand

warmer

warmer

Left Hand

Right Hand

cooler

cooler

Left Hand

Right Hand

warmer

cooler

Left Hand

Right Hand

cooler

warmer

Question Type:
Randomize Answers: No
Date Added:
Last Modified:
QID#:

Multiple Choice

Thu 22nd Jul 2021
N/A
28,486,495

Question 23
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Fate filled three paite, X, ¥ and 2, with the sams amount of water with differest
temperatires. Kabe dipped her el hand into pall X and dght hand nto pall Y for (hres
mnLbes,

Winich one of the following coreslly describes how Kake's hands fislt in pall 27
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8= shown balow. Bolh cantainens A and B wers placed on & healor

Peter poured the same volsme of water &t 25°C inlo wo identical containers, A end B,

Coantainer & Contsines B
Alber 15 minutes, which ans of the foliowing companscns of the amoued al heal in tha
waler in bath condainers and explanation |8 comes! 7
A) | Amount of heat in the water after 15 Explanation
minutes
Water in both containers had the same Temperature of water was the same in
amount of heat. both containers
B) | Amount of heat in the water after 15 Explanation
minutes
Water in both containers had same amount | Both containers were made of the same
of heat. material.

Question 24

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit

v C) Amount of heat in the water after |Explanation
15 minutes
Water in container A had more heat |Container A has a larger surface area in contact
than the water in container B. with the heater and gained more heat.
D) | Amount of heat in the water after 15 Explanation
minutes
Water in container B had more heat than the | Heat was conducted more quickly to the
water in container A. water in container B.
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,512
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A tray of iron pine is placed belty (he magnets of dentical siee. The diageam b Shoes
tha diffaramt numbes of imn pins thet Bre attractad o the diferent magrets A, B G and 0,

1 = EeEe———

\\ 1.I'E!|I'
— e

ran ping

Based on the ebsenmfions abowe, which ome of The follwing e the strongast magnet?

v A) A

B) B
C) C
D) D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,486,519
Question 25 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Jana hung objaet X on & sprng &2 shown in diagram 1. Then sha placed oogecl Y direcsly
besforw oiject X, She abserved that the length of the spring became shorer as shawn in

disgrarm 2
—
Spring
anglh af Wength of
¥ 3pring g
obiect X ot X
r-l-— objed ¥
hagram 1 Diagram 2

Based on her shservations, which of the following etatemand(s) miare camect?

M Objects X and ¥ were magnels
L Unike poles of objects X and Y wera facing each other
c Loject X was non-magnetic and object ¥ was a magne,

v A) Aonly

B) Conly
https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit 23/46
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C) AandBonly
D) BandC only

Question Type:

Date Added:
Last Modified:
QID#:

Randomize Answers:

Question 26

ClassMarker - Manage Test

Multiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,526

The diagram shows part of the human digestive system.

Tick one box to show where the gullet is.

/ I

Primary 4 Science » Primary 4 Science (Term 4)

v A)

B)

C)

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 27

Fill in the blank using the following helping words.

Muiltiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,542

Food from the gullet is next passed on to the

A) rectum
v B) stomach
C) smallintestine

D) mouth

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 28

Multiple Choice
No

Thu 22nd Jul 2021
N/A

28,486,547
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The diagram below shows a plant.
X
rool
Name the plant part X.
Accepted answers:
v leaves
Question Type: Free Text
Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,554
Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Question 29

The diagram below shows a plant.

rool

The roots take in for the plant.

Accepted answers:
v water and mineral salts

¥ mineral salts and water
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Question Type: Free Text

Date Added: Thu 22nd Jul 2021
Last Modified: N/A

QID#: 28,486,565

Question 30
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The diagram below shows a plant.

Primary 4 Science » Primary 4 Science (Term 4)

root

The diagram below shows a represantation of the transport syslemol 8

flowering plent,

e g s

The arows = and =~ * show the direction in which foad and water are

transported in a plant,

Match the options below:

Clue

Match

water

Transpors
Points: +1 =0
__________ - T M
Points: +1 =0
Question Type: Matching

Shuffle Mode: Shuffle Matches Only
Date Added: Thu 22nd Jul 2021
Last Modified: N/A

QID#: 28,486,616

food
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Qu estion 31 Primary 4 Science » Primary 4 Science (Term 4)

The diagram below shows a representation of the transport system of
flowrering plant, 5 "

part X

The arows = and == * show the direction in which foad and water are
transported in a plant,

Name plant part W.

Accepted answers:

v flower

Question Type: Free Text

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,486,766
Question 32 Primary 4 Science » Primary 4 Science (Term 4)

The picture below shows a cup of hol tea.

Choose the correct state for the following things.

Clue Match
Tea Liquid
Points: +1 =0

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit
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Cup Solid
Points: +1 =0
Incorrect match option Gas

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,486,770
Question 33 Primary 4 Science » Primary 4 Science (Term 4)

The diagram below shows a beaker of milk.

Fill in the blanks using the correct words given.

Clue Match
When heat is removed from the milk, its decreases
temperature

Points: +1 =0

The beaker of milk is put in the freezer. After solid
some time, the milk will change its state to

become a

Points: +1 =0

Incorrect match option liquid
Incorrect match option gas
Incorrect match option increases
Incorrect match option remains unchanged

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,774

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit

2 pts

29/46


https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486770
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486770&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1781221
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486774
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486774&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1781221

8/6/2021 ClassMarker - Manage Test

Qu estion 34 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Susan placed a magnel near an sluminiim rod as shown below
The: aluminiem red dd not mowe fovands the magnat,

Auminium rod — ﬁ r ﬂ_ magriet

The magnet did not the aluminium rod.

Accepted answers:

v attract

Question Type: Free Text

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,486,778

Question 35 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Susan placed @ magnel naar an siumnkim rod as shown below
The alurminem red did not move fovwands The fragnet,

Auminium rod — ﬁ r ﬂ_ magriet

Choose the correct word for the options below to answer the question.

The aluminium rod is made of a material.

A) Flexible

v' B) Non-magnetic

C) Strong
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,785
Qu estion 36 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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The diagram betow shows tha life cycle of 8 mosquito and & chicken,

adud

a

ﬁ:é.}rwng =2

T

Life eyele of a chicken

Life cycle of a mosquito

Based on your observation, state one similarity and one difference between the two life cycles. [Do
NOT compare size, shape, colour and body covering.]
(2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,796

Correctly answered feedback

Similarity: Both have an egg stage in its life cycle.
Difference: The life cycle of the mosquito has 4 stages while the life cycle of the chicken has 3
stages.

Incorrectly answered feedback

Similarity: Both have an egg stage in its life cycle.
Difference: The life cycle of the mosquito has 4 stages while the life cycle of the chicken has 3
stages.

QU estion 37 Primary 4 Science » Primary 4 Science (Term 4)
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The diagram below shows a flowering plant at three stages, P, Q and R.
P Q R
At which stage, P, Q or R is the plant at its adult stage?
Accepted answers:
v Q
v Stage Q

Question Type: Free Text

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,802

Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Question 38

The diagram below shows 8 flowering plant at three stages, P, O and R

P Q R

Based on your observation, give a reason for your answer in the previous question. [Do NOT compare
size and shape.] (1 mark)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,807

Correctly answered feedback
The stage Q has fruits, so it is the adult plant.

Incorrectly answered feedback
The stage Q has fruits, so it is the adult plant.

The graph below shows the amount of digested and il Food
organs in the digestive systam. undigastad food In the déferent

AmeUn Hey:
of digested EeR digested fond

umrﬂaeslnd ﬁ E [ undigested food

mouth  guie W

organs

State a reason why the amount of digested food in the gullet is the same as the amount of digested
food in the mouth. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,819

Correctly answered feedback

Digestion does not occur during the gullet stage, and the food is partially digested, so the amount
of digested food in the gullet will be the same as the amount of digested food in the mouth.

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit

Question 39 Primary 4 Science » Primary 4 Science (Term 4)

0 pts

33/46


https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486807
https://www.classmarker.com/a/tests/qb/manage/?test_id=1781221&question_id=28486807&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1781221
http://drive.google.com/uc?export=view&id=1Jk1FZvQadKATeYQaGAeZSrHQHOEG-Cqq

8/6/2021 ClassMarker - Manage Test
]

Incorrectly answered feedback

Digestion does not occur during the gullet stage, and the food is partially digested, so the amount
of digested food in the gullet will be the same as the amount of digested food in the mouth.

Qu estion 40 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

The graph balaw shows the amount of digested and
organs in the digestive syssam. g ard undigastad food In the dfarmnt

ArmiLn Hey:
of digesed EER digestad food

e @ ﬁ [ undigested faog

mouth  guillled

OnGEns

What organ in the digestive system could Y be? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,829

Correctly answered feedback

Organ Y could be the large intestine because the function of the large intestine is to absorb the
water from the undigested food and in organ Y, there is no digested food. Large intestine does not
digest food. Digested food is absorbed by organ X, the small intestine.

Incorrectly answered feedback

Organ Y could be the large intestine because the function of the large intestine is to absorb the
water from the undigested food and in organ Y, there is no digested food. Large intestine does not
digest food. Digested food is absorbed by organ X, the small intestine.

Question 41 Primary 4 Science » Primary 4 Science (Term 4) 1 pt
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The: table balow shows: the physical properties of four matadals, W, X, Y and Z°
A lick {¥) shows the presanss of the property.,

Matcriaks
| . W X Y £
f
I it Thazibia? L | 0l
s |l waterpmof | 4 |
Does it allow light to pass through? |

In the classification table below, write the possible headings for the two groups in (i) and (ii).

Materials

i T

o fiv)

Accepted answers:
¥ Flexible, Not Flexible

v’ (i) Flexible (ii) Not Flexible

Question Type: Free Text

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,843

Primary 4 Science » Primary 4 Science (Term 4)
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The: table balow shows: the physical properties of four matadals, W, X, Y and Z°
A lick {¥) shows the presanss of the property.,

pigini

Matcrials
.F I . W X ¥ z
/
I it Thazibia? L | 0l
s |l waterpmof | 4 |
Dioes it allow light to pass through? ")

Fill in the blanks for (i) and (iv) with the correct materials, X or Z.

Materials

i}

R

o {i)

v Zand X
vz X
/ZX
v ZIX
v ZIX

v zZX

Question Type:
Date Added:
Last Modified:
QID#:

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit

Accepted answers:

Free Text

Thu 22nd Jul 2021
N/A

28,486,854
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The diagram balow shows a fiak tank,

fizh Lark

Basad on the groperties of the matsrials gnvan i the tabla, wihich matesizl, W

&, ¥ or Z, should be use for making the fish tank? Give two reasons for yor
BINIEWET, 2]

Malerial ;

Hiason 1

Hiasan 2:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,863

Correctly answered feedback

Material X.
Material X is waterproof.
Material X is transparent so it will allow light to pass through.

Incorrectly answered feedback

Material X.
Material X is waterproof.
Material X is transparent so it will allow light to pass through.

Question 44 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Tha diagram below shows a container with 8 capacity of 500 ere?. Il was fBad"with
200 crn? of water. Twe syringes, filled with 100 cm? of waler end air respectively, wera

altachad o the cortaingr,
pLinger— plunger
wyringe Byrifge:

——— SO0 &mn® ol container
I; II-_W

In the options below, choose the correct answer that shows how the volume of water and air in the
container would change after the plungers of both syringes were pushed down completely.

200 cm? of
waber

Clue Match

Water Increase

Points: +1 =0

Air Decrease

Points: +1 =0

Incorrect match option Remains the same

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,486,874
Question 45 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Tha diagram below shows a container with 8 capacity of 500 cre?. Il was fBad"with
200 crn? of water. Twe syringes, filled with 100 cm? of waler end air respectively, wera

attachad o the cortaingr,
unger— plunger
syringe ByTinge

——— SO0 em® of container
I; 'I-_w

Without changing any of the apparatus, state one way to increase the volume of air in the container.
Explain your answer. (2 marks)

200 em? of
waber

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,486,880

Correctly answered feedback
Air does not have a definite volume and will take up the space in the container.

Incorrectly answered feedback
Air does not have a definite volume and will take up the space in the container.

Question 46 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Emlrmmtadmamerhnmaaahmn-hemhanm
box, ha pleeed four differen
isalerials, W, 3 'Fardz.bahmmahrmﬂulmmrmr.maluirm R

mart e ——J |

back bos
11:_11;!1 light genisor

)
=

Emir turssd an the lorch and recarged the amount of light delected by the kght Bansnr

i tha tabile below,
= Mﬁﬂuﬁlﬁlﬁnhlmu by light sanser |
W - 0
b 1450 _|
¥ B.'-'E_ N :
z 100 _

Which of these variable(s) should Emir keep the same? Choose the correct answer.

A) Type of material
v’ B) Thickness of material
C) Amount of light detected by the light sensor

v' D) Distance between the torch and the material

Question Type: Multiple Response
Randomize Answers: No
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Grade style: Full points if all answers are correct

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,488,252
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Emrmﬂmumamhmaasrm-bemhaum
box, ha placed four oF
materiale, W, 3 ?amzum:mmmulmm“ﬂtnim.m =i

el ~—— |
Bk b
s i
datg —
Ingged

Ermir burswse] @n the lorch and recarded 1
P & amaunl of light delected by the bght sansor

=h ﬁmmuagh:w by light sanaor |
W o 5
A 1450 N
¥ B75 3
£ 100 i

Emir wanted 1o choose iwo materals b make an emelopss o sord letters o his fFends
Cine of the matarials would be usSed for part P and the ofher malerial Tor part Q of the
anverlopa 58 shown baloe

Part P would hide the wiiting in the latter while pad © woulkd enable him to see the
address prinked on the lettar clearty. *

Ei

Based on the results of his experiment, which materials, W, X, Y or Z would best be used to make parts
P and Q of the envelope?

Clue Match

P: w

Points: +1 =0

Q: X

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit
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Points: +1 =0
Incorrect match option Y
Incorrect match option 7z

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 22nd Jul 2021

Last Modified: N/A

QID#: 28,488,281

Qu estion 48 Primary 4 Science » Primary 4 Science (Term 4)

Emir wanted o choose tvwo materials b make an emvelops o send letbers 1o his friands
Cine of the matarials would be wsed for part P and the other malesial for part Q of the
arverlpa 58 ghown balow

Fart P would hide 1he waibng in the later while paﬂt]uuuluanabla him o =ee he
address prinked on e lettar claarly.

Iu-\.-\.o-\.-.-
|@§
[t

1237 d = o

Give a reason for your answer to make part P. (1 mark)
This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,488,299

Correctly answered feedback
Material W does not allow any light to pass through as there was no light detected by the light
sensor.

Incorrectly answered feedback
Material W does not allow any light to pass through as there was no light detected by the light
sensor.

Qu estion 49 Primary 4 Science » Primary 4 Science (Term 4)
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Baphie look a bodile of cold milk ot of 18 Ivikipa a8 ahown bieli

-

T ware thma identical beains, A, 5 and T, Bach pordsaning diferent armaunt of

WHT il a lemperature of 80 T o .
Wi 8 basiou s : Sophia thmnﬁlmmhpikh-rmmmgﬂ

hodile of mik
o0 e

Basin®

Brgin & -
Tempesaiusa of waler: 0 0 Tempemiure of water 90 °C

Amount of waser - 5 mi

Temparaiure of water: 90 G
| Amount of weder - fiDmil | Amour of waser - BO mi
!

In which basin of water, R, S or T, would the bottle of milk become warm least quickly after five
minutes? Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A

QID#: 28,488,322

Correctly answered feedback

Basin R. Basin R had the least amount of water so it will contain the least amount of heat thus the
milk will gain the least amount of heat from the water in R.

Incorrectly answered feedback

Basin R. Basin R had the least amount of water so it will contain the least amount of heat thus the
milk will gain the least amount of heat from the water in R.

Primary 4 Science » Primary 4 Science (Term 4)

Question 50
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Saphie kok a bodile of cold mif ot of $1a fridga as shown beliw

hodile of mik
o0 e

Thers ware thres kientical basins, R, 5 a
W ol a tempserature of B0 T
o e basins of wabar

md T, atch cordsming diferent geng
unt ¢
Soptwe wanted o wanm e cold ik by pulling &

Amour of water < B mil

Brgin & -
Temperalusa of water: GG °0 Tamperature af watar 590 Temparaiure of water: 90 *C
Bt af water - 5 | Amount of weter - {0 mi

in a room with a temperature of 30°C. (2 marks)

Water in basin: °C
Milk in the botttle: °C

to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,489,523

Correctly answered feedback

Water in basin: 30°C
Milk in the bottle: 30°C

Incorrectly answered feedback

Water in basin: 30°C
Milk in the bottle: 30°C

Question 51

https://www.classmarker.com/a/tests/test/?test_id=1781221&trk=edittest_inrow_edit

After ten hours, what would most likely to be the temperature of water in the basin and the milk placed

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

Primary 4 Science » Primary 4 Science (Term 4)

1 pt
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Peler used ive soking method bo make the nasl a temporany magnet &5 shovwn is the

N

Suggest a material which the nail shown above is made of. (1 mark)

Accepted answers:

¥ Iron

Question Type: Free Text

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,489,536

Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Question 52

Peler used Ihe droking method b make the nad @ temporary magnel gs shovn im the

N

Paler connecled the nail in an alecrical circuil as shosn in he disgram below.
He observed that the nail atireched a low paper dips,

il

e By, e ey, papar clips

Explain why the nail was abea to atiract the steel papes clips. [1]
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,489,607

Correctly answered feedback
The nail was a temporary magnet and steel is a magnetic material.

Incorrectly answered feedback
The nail was a temporary magnet and steel is a magnetic material.

Question 53 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Pater repeatad (he expeiment by ¢
_ eplecing the rail wih an alumni il
ncraased the mumbor of tuns of wire rmund the suminium nall as ﬂmm:l:;:l =

aluminaum nail

== sioal papor clips

Predict the number of paper tips atractad 1o the aluminiem nai
Expisin yotur answer, [3

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 22nd Jul 2021
Last Modified: N/A
QID#: 28,489,620

Correctly answered feedback
Paper clips. No paper clips will be attracted as aluminium is not a magnetic material so it will not be
magnetised.
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Incorrectly answered feedback

Paper clips. No paper clips will be attracted as aluminium is not a magnetic material so it will not be
magnetised.
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